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تمارين ١-٦

الطريقة )1( )التعويض(  	 	)١
س4 - 13س2 + 36 = 0  	 		
لتكن ص = س2، فيكون:  	 		
ص2 - 13 ص + 36 = 0  	 		
)ص - 4( )ص - 9( = 0  	 		

ص = 4 أو ص = 9  	 		
س2 = 4  أو س2 = 9  	 		

	  ٣  = ٢  أو س  = س 	 		
الطريقة )٢( )التحليل المباشر إلى العوامل( 	 		  

)س2 - 4( )س2 - 9( = 0 	 		
س2 = 4 أو س2 = 9 	 		

  ٣  = ٢ أو س  = س 	 		

س86  + س73  = 1 	 	 	

٨ + ٧س٣ = س٦   	 		
س٦ - ٧س٣ - ٨ = ٠ 	 		

)س٣ - ٨()س٣ + ١( = ٠ 	 		
س٣ = ٨ أو س٣ = -١ 	 		

س = ٢ أو س = -١ 	 		

س  + ١( = ٦ س ) 	 	)٢
س  - 6 = 0  س +  	 		

س ،  فيكون:  لتكن ص =  	 		
ص2 + ص - 6 = 0  	 		

)ص + 3( )ص - 2( = 0  	 		
ص = -3 أو ص = 2  	 		

س غير موجود للقيم  س  = -3 )لا يوجد حلّ لأن  �	  		  
السالبة(

س  = 2  	 		  
س = 4  	 		

    ١٦ =  5
س  س  +  3 	 	

س  + 5 = 0  3س - 16 			 
س  ، فإن: لتكن ص=  			 

3ص2 - 16ص + 5 = 0  			 
)3 ص - 1( )ص - 5( = 0 			 

ص = 1٣    أو  ص = 5  			 
س  = 5  س  = 1٣    أو     		

		  س = 1٩    أو  س = 25 
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